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%K�V� 1.(10&h�) ��6£§_� y��y���̀¦ ½̈
�#���.

(a) r = 2 sin(2 θ), 0 ≤ θ ≤ π/2\� @/
�#�, �<ÊÃº r_� ÕªA�áÔ\� Ñüt�Q����� ÂÒì�r_�

V,�s�\�¦ ½̈
�#���.

(b) A\�¦ ��6£§ ¿º �<ÊÃº y = x2, y = x3_� ÕªA�áÔ\� _�
�#� Ñüt�Q����� %ò
%i�s���½+É

M: %ò
%i� A_� ×�æd���̀¦ ½̈
�#���.

%K�V� 2.(10&h�) ��6£§ /åLÃº_� Ãº§4� µ1Ïíß��̀¦ óøÍ&ñ

�#���.
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%K�V� 3.(10&h�) ��6£§ /åLÃº_� Ãº§4� ìøÍ�â
 Rõ� Ãº§4�½̈çß� D ½̈
�#���.
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%K�V� 4.(10&h�) f(x) = (1 + x)
√

1 + x{9�M:

(a) �<ÊÃº f(x)_� x = 0\�"f Taylor ���½Ód�� P0, P1, P3\�¦ ½̈
�#���.

(b) ]j 3	� Taylor ���½Ód�� P3\�¦ s�6 x
�#� 1.1
√

1.1�̀¦ ½̈
�#���.

(c) s� M:_� �̧	�\�¦ ½̈
�#���.

%K�V� 5.(10&h�) Taylor_� &ñ
o�\�¦ ��6 x
�#� 2x5− x4 + 3x3 + x2− 5x + 1�̀¦ x + 1_�

"4�Ü¼�Ð ����?/#Q��.
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